R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.18-20.dwg, FL-16092.18

** Meeting stile reinforcement is not required

- 78" MAX FRAME WIDTH
o 6 P 2
- . 3563'MAXD.LO. 8 $n 3
" WIDTH & 2’“ 52 m?
- L. T « O
E,ag2C2
WINDOWS & DOORS THAY
450 5.2 -
250 Staunton Turnpike, Parkersburg, WV 26104 ] ——— t 2 f E :‘_3 Eh\ X
0 'C =
/ % 3 g3iniphd
/ // EgoepsNyu
5400/5400S SERIES o ’ Fadids s
P § 3£ 3
® @ ® ® L] 5 ll:-l L
Vinyl Horizontal Sliding Window | f 6 =
= T Q
T O o
" ] ] P
NON-IMPACT o T "
Y 3 55
g g X g | &3
5 3 s | °F
s f % 52
N 3 Z I PSS
GENERAL NOTES ~ 3 § 2 % P
0 ol o
This product has been evaluated and is in compliance with the 2010 § ﬁ &JQ
Florida Building Code (FBC) structural requirements excluding the ElS xl 93
"High Velocity Hurricane Zone" (HVHZ). 3 ; 3
x© < o
Product anchors shall be as listed and spaced as shown on details. / « / = =
Anchor embedment to base material shall be beyond wall dressing / / &
or stucco. { d
L]
When used in areas requiring wind borne debris protection this
product is required to be protected with an impact resistant covering XX SHOWN
that complies with Section 1609.1.2 of the FBC. OX. XO ALSO APPROVED 0
% =
o
For 2x stud framing consfruction, anchoring of these units shall be the 7}
same as that shown for 2x buck masonry construction. E
Site conditions that deviate from the details of this drawing require
further engineering analysis by a licensed engineer or registered
architect.
1) 1} 1 ” E
TABLE OF CONTENTS 63.0" X 44.0 27.63" X 37.06 G2 +30.0 =-30.0 ® %k =
SHEET# | DESCRIPTION . " i " o
1 Typical elevations, design pressures and general notes 720°X 48.0 32.13° X 41.0 G +45.0 -45.0 =
2 Horizontal cross sections ] ) " ] oaTE: 10/4/13
3 Vertical cross sections 74.0" X 63.0 33.13 X 56.06 Gl +25.0 -25_0 SCALE: N.T.S.
4 Buck and frame anchoring DWG. BY: JK
5 Components 78.0" X 72.0" 35.63" X 65.04" G1 +20.0 -20.0 cHK. BY:  LFS
6 Bill of materials & glazing detail DRAWING NO-
FL—-16092.18

sveer _ 1 oF 6

© 2013 R.W. BUILDING CONSULTANTS INC .



‘ON] SLENVYLINENDD aNIa-Hng

MM ELDE G

EO¥EY "ON "I'd “IPHUYDS "d uopuil SNOISIAIY
s SNOLLDFS SS0ND F 0
ST G747 WINOZIMOH A8 VA [ONIm| I (o] = ||
£186 'ON UOHDZUOUINY JO BI0SLRISD ~ S| o
sieaulbuy |DUDIBEB Ol O PIDOT DPLIO|IY ATINISSY HO 1dvd ~+ - . w 5
LBLE'6SY'CLR "ON Sudyd W Z g o 2_
GEEET 14 O2IDA 0LZ Xx08 "O'd \m\w@ - B|&|2 .._,
"ONI "SINVLINSNOD ONIQNG SIS S00+S/00%S i M GlolE ZlE
:Ag peibdeig sjusLnoog 1oNQ0¥d M GlE|3 m o
=
[ | —
DAO O
[
# 2
w0 7
byt { oy
o~ _H_ Muu m
p-v
- O|e
LT L I8
=l
" = = SIE
"
0 Z e
o] O B
™~ [= Oje
Q I I | - TS5
b i - . !
i w > ._v * - qﬁ. W . mw
OIS LS : S
-] 2 v 4 L -
Is)
| |
I Y ~
Olz
O M < -
Za
Q|0 =
. XI5 ZE
7 - * G.ﬂ. .v,. 1l.lrlr m
D E vv. c.v... .‘v.‘ mw 1|_|E
]
Zal
SE =
Y ()
T3 G
e
7
)
™Y e (%]
XD o) @ S
P O
" —
) =~
I 3
i
O
Cai - : -
(=74
9 g (2 ) 5 mw
= LA &
Lo ¥ ] HE e = m O _VlA
b = 2 -
/;//,..H,..../
e #
hanl] :O_....:w e
X
. .
" |

A

1-1/4" MIN.

/"1 "\ HORIZONTAL CROSS SECTION

\y Shown w/ 2X buck

LT 'BMP0Z-81 2409 L~ H\ISPIS [OMOZUOHNA/9 L 4d\ODZ L - L091 Ioid\s1ep(04 (osford\s1938(01d - v\




T ONI SLNVAIASNDD SNIGTINE MY EL0Z 5

BO¥EF 'ON '3'd IPIULYDS 4 uopuky SNOISIATY
S SNOILOIS SSO4D -

Q\\N\Q TYOILYTA A8 VA [ON ot I || = |
£186 "ON uefipzuoyng 40 siooyILaD N MBI
ss88u|Bu] |DUOISS3 014 Jo pIOOF DPLIO|d SATANWESSY HO 1Hvd ik ~ .. w &
LBLE'BSH'CLY TON 3uoug e g ©
SBSEL "3 O2MIDA OFZ Xog .o.a\Sv@. S 5l w T 3_

“ONI 'SLNVLINSNOD ONITINg S31M3S S00vS/00%S alSlslolE 216
1Ag peiodeld Syuawinacg -10NJ0xd _.m. m Z Mum m - r%._
(dAl)gw3 -
NIW.F/1-L
-  (dal) gwa O
NIW L/ L= -
- @ & o _
[ ] ~0 O m ~
e m = m VY e P N
zl o Z\CAL L |8
T - , , =
" oy ’, 2z
b~ — &€
] - bt { =]
[ 2] - ' ¥ o]
lolks] r L m £
or .W i B v oo
C Y 14 - C L..nw
M ...err- ﬁ ﬂqn. . < M -mrllv
..Pl.u N Sk o
SE - g
Wil o 3 o 45| O
> ﬂ | e >5
& mw S @) O @W
o= iy
e
= >
) 1y

Stop for fixed
window

oz
-
293
B <
8= ('dAL) “aW3 _
"NIW #/1-1
Cdatl'awa (o
NIW b/ 11 NIAN

e
-

T
¢ -
o e el
) L

[—=©®
=606

~

=
'
i
¥/
[/ d

L1

I/l
L

m VERTICAL CROSS SECTION

w Shown w/ 2X buck

EXTERIOR

L€ Bap0z-8T'2609T-14\PIS 1BIUOZUOHNG /9T Jd\OOLT - T09T fosd\siaplod 1afold\sdaioid - v\



RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-14092.18-20.dwg, 4.7

SASH
2" ;]
o . (TP 4 .—
St ;:,/ (TYP.) "1 4
UL e . .
T i 1 ' t
e
g (TYP.) =
2X
BUCK \
MASONRY
OPENING 1
N o ry
.y ic
SRR L J
.'. . s — O
S ] = ] |
L \
BUCK ANCHORING
CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete anchors from a different suppfier may have
different edge distance and cenfer distance requirements,

2. Concrete anchor locations at the comers may be adjusted to maintain
the min. edge distance to mortar joints. If concrete anchor locations

nofed as "MAX. ON CENTER" must be adjusted to maintain the min. edge
distance to mortar joints, additional concrete anchors may be required fo
ensure the "MAX. ON CENTER" dimensions are not exceeded,

3. Concrete anchor table:

Im™w 1/4" 1-1/4"

ELCO ‘/4" !-114“

3" {TYP.)

MASONRY ‘7\

OPENING
FRAME —\
2% BUCK ﬂ,
S A

e

a / & (TYP.) -
Ly N
G )2xBUCK g
D } 1XBUCK 8
DIRECTTO
J ) MASONRY
(vP.)
— &
plir |
T /
\ *l l— 35 mvp)
FRAME ANCHORING

Ng. 98
A

/

B13.659.9197

ization

Certificate 0%;21‘

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Florida Boord of Professional Engineers

Ry

Documents Erapared By:

13
g

Lyndon F. Schmidt, P.E. No. 43409

BUCK AND
FRAME ANCHORING

5400/5400S SERIES

PART OR ASSEMBLY:

PRODUCT:

BY

NCJ] DATE

REVISIONS

oate: 10/4/13

SCALE:  N.T.S.

DWG. BY: JK

CHK, BY: LFS

DRAWING NO.:

FL—-18092.18

SHEET _4 OF _6

© 2013 R.W. BUHLDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 147%\Horizontal Sider\FL-14092,18-20.dwg, 5.7

:-| |—*— 0.058"

3.48"

|-—— 0.203"

( : ) FRAME

0.063"

0.832" J——J
( : ) GLAZING BEAD

E %} fﬁl 1

S | gogr wllw 0% f

l 1 [ — I | [y
3.25"

r—-‘ 129" =
N

0.08" —w e

= =037

J ~— (0.09"

0.67"

e 1,75 | 3
[
in ﬂ
3 2 =5
T = 0.063" fmf
] = L LG 1
- 1,189" —]
@ SLIDER PULL STILE
1.42"
N
@ SLIDER COMMON RAIL

~—1.21" —~]

| o |

- 1.177" -]

LOCK STILE

N
N
S ’——»—0.65"
o ! A
s 1008 ——f= *

. FLANKER STOP

I
1—« 0.47"

@ REINFORCEMENT

0.09" —= =

L»].us"——i

e 199" |

| 0.49"

5
4

4 e &7

0.08" —=] e

—= 0.67"

—~=— 0.09"

|~ 1.775"

L'_;—I_J
—t— (63"
—a—]t—a— (0,045"

g___[ﬂ

114" —]

( : ) KEEPER STILE

I‘- 1.437" —=i

0.555"

r 1.29"

0.058" ——=
0.108" ———=

SILL TRACK

=~ 1.21" |

LTl

813.659.9197
Lyndon F. Schmidt, P.E. No. 43409

(25,

P.O. Box 230 Valrico FL. 33585

Phone Mo.:
Florida Board of Professional Engineers

BUILDING CONSULTANTS, INC.
Certificate Of Authorization No. 9813

Documents Prepared By:

5400/54005 SERIES
COMPONENTS

PART OR ASSEMBLY:

PRODUCT:

BY

| o |

0.08" —ai

20 UPPER FLANKER STOP

S

NO. DATE

REVISIONS

oATE: 10/4/13

SCALE:  N,T.5,

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL—16092.18

SHEET 5 ofF 8

© zo13 R.W. BulLDIinG CONSULTANTS INEG.



RAA - Prajects\Project Foiders\Proj 1601 - 1700APF 167%\Horizontal Siider\FL-16092.18-20.dwyg, 5.7

i‘m 2.05" ~—-j
- 178" ]

3.48"
= 0. 058"
0.203"
T .
3
= [on3
5
R
S —w|f— 0. 043"
N1 0.067" —=
o | N i L |
3.25"

( : )FRAME

0.063"

0.832" H

( : ) GLALING BEAD

0.08" —w |=—
——t— 0.67"

r— 1.29" -
N
[

—={ 037"

F=— 009"

- 1.189" =

@ SLIDER PULL STILE

42—

1.9"

@ SLIDER COMMON RAIL

@ LOWER FLANKER STOP

= 1,177" -

( : ) LOCK STILE

0 isl!

.
&

T r—»— 0.45"
] 008"~ *

L—mg“

W-J L— 0.47"
. REINFORCEMENT

i

1.99"

-~ 1.775" ——E
f (]
} Y fe—t— 0.63"
o ? | [ — 0,065"
1 L E—] ‘
1,14 =

( : ) KEEPER STILE

e | 29" — ]

0.555"

0.058" ——=
0.108" ——=

(: : ) SILL TRACK

= 1.21" ]

h SN

AP AN N

0.09" —=f f=—

0.08" —a=r] |e—

—= 0.67"

A
] e 049"

[~ 009"

| o I
0.08"—4&

20 UPPER FLANKER STOP

r2r%

B813.659.9187
No. 9813

P.0. Box 230 Valrico FL. 33585

Phone Ne.:
Fiorida Boord of Professional Engineers

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Certificate Of %tho%

Lyndon F. Schmidt, P.E. No. 43409

5400/54008 SERIES
COMPONENTS

PART OR ASSEMBLY:

PRODUCT:

BY

NOJ DATE

REVISIONS

DATE: 10/4/13

scak:  N.T.S,

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
Fl.—-16092.18

SHEET 5 oF 6

© 2013 R.W. BUILDING CONSULTANTS INC.



RA\A - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.18-20.dwg, 6.7

BILL OF MATERIALS

TEM DESCRIPTION PART# MATERIAL
A |1XBUCKSG >=0.55 - WOOD
B | 2XBUCKSG >=0.55 - WOOD
C | 1/4"MAX. SHIM SPACE - ;
D |1/4"X 2-3/4 PFH ELCO OR ITW CONCRETE SCREW - STEEL
c | MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI ] CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F | 1/4"X 3-3/4" PFH ELCO OR ITW CONCRETE SCREW - STEEL
G | #10 X 1-3/4"PPH WOOD SCREW - STEEL
1 | 1/4"X2-1/4' PFH ELCO OR ITW CONCRETE SCREW - STEEL
K |1/4"X 3-1/4" PFH ELCO OR ITW CONCRETE SCREW - STEEL
T | FRAME* DS5401A PVC
2 | SLIDER PULL STILE* SE4647 PVC
3 |LOCK STiLE* SE4646 PVC
4 | KEEPER STILE* SE4644 PVC
5 | GLAZING BEAD* 22841 PVC
6 | SLDER COMMON RAIL* SE4645 PVC
7 | BALL BEARING ROLLER - -
8 | WEATHERSTRIP (0.230') . ;
9 | WEATHERSTRIP (0.380") - -
10 | REINFORCEMENT - ALUM
11| SILL TRACK* V777 PVC
15 | WEEPHOLE CAP* WEEP-1288 PVC
16 | #8 X 3' PFH SMS ; STEEL
17 | #8 X 1-1/4" PFH SMS - ALUM
18 | #8 X 3/4" PFH WOOD SCREW - STEEL
19 | LOWER FLANKER STOP 2991C NYLON
20 | UPPER FLANKER STOP 29918 NYLON

* THE APPROVED WHITE RIGID PYC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED BY EXTRUDERS
LICENSEES IN "AAMA CERTIHCATION PROGRAMS FOR RIGID PVYC EXTRUSIONS".

1/2° GLASS
BITE

)

116" X 1/2"
GLAIING TAPE
BY LAMATEK

(

3/4" THICK GLASS

/— 1/8" ANNEALED

S~ ARSPACE

a
\vass o
b,
L

C:) GLAZING DETAIL

\~ 1/8" ANNEALED

INTERCEPT SPACER

n st ]
R o il
it Pt fat
o=y ] 1
Woq Hi i

\ i i |
Wi I :
H 1l il I
H 1] 1l I
H 1] 1t It
H il il Iy
[ ———— e — Al Ay

AF59 {Masonry Flange 1)

o | P ———
R s | S s (N (v

b=k

AF36 (1-1/2" Brick Mould)

i il i
1 iy i
it 1
-

i

[

BUILDING CONSULTANTS, INC.
P.O. Box 230 Volrico FL. 33595
813.659.9187

Decuments Prepared By

Phone No.:
Fleride Board of Professional Engineers

Certificate Of Apthorization No. 9813

Lyndon F. Schmidt, P.E. No. 43409

V672 {Masenry Flange 2)

OPTIONAL COSMETIC FLANGES

1/2" GLASS
BITE

L ]

>
<]

.

C) GLAZING DETAIL

/14" X 1/2"
GLAZING TAPE
BY LAMATEK

3/4" THICK GLASS

| 332 ANNEALED
S~ ARSPACE

\ 3/32" ANNEALED

INTERCEPT SPACER

5400/5400S SERIES
BILL OF MATERIALS
& GLAZING DETAIL

PART OR ASSEMBLY:

PRCDUCT:

REVISIONS

NO) DATE

oatE: 10/4/13

SCALE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-16092.18

SHEEF 6 ofF 6

© 2013 R.W, BUILDING CONSULTANTS NG,



